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1) Find the median of the following set of data:
22,34, 27, 40, 25, 30, 11, 25, 34,

21,4, 17,16, 34, 15, 34, 33, 31, 37,

25

Answer:

2)  Anamount was decreased by 1% to
$240.49. Find the original amount.

Answer:

3 Vg + 1914

Answer:

4) 33526+ 7711.2

5) A number is chosen at random from 1
to 75. Find the probability of selecting
number less than 17.

6) 6055 x 3698

Answer: Answer: Answer:
7)  Find the percentage change from 390 8) 11 8/,5-31 ¢ 9)
t0 195 37 Find VVolume of
_ 35 | Cylinder
——
Answer: Answer: Answer:
10) Convert thefollowing fraction into a 11) Anamount was decreased by 6% to 12) b
mixed number: 63/, $325.98. Find the original amount.
a 0 c

Measure angle boc

Answer: Answer: Answer:
22 11 2 10 -
13) 13- 119 14) 39 “pg-33 g 15) 2288 + 52
Answer: Answer: Answer:
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Answer:

Measure angle boa

Answer:

16) 319 x 244 17)  Share54intheratio 48:6 18) Find perimeter of
square having each
s side (s) equals 4304 ft
5
Answer: Answer: Answer:
19) Find the mode of the following set of data: 20) b 21) An amount was decreased by 3% to
178, 178, 178, 178, 178, 178, 112, $225.00. Find the original amount.
112, 112, 112, 102, 102, 102, 102,
134,134, 134,134 a o]

Answer:

22) Convert the following fraction into a
mixed number: 46/

Answer:

23)  Slggof 192

Answer:

24)  Convert the following improper
fraction 1219/, + 3%, into amixed
number

Answer:

25) 53/516

Answer:

26) Round 13.381548488288 to 1
decimal places.

Answer:

27) Decrease 278 by %/, 59

Answer:

28) 02:38 am To 10:34 am

Answer:

29) 13692.8 + 389

Answer:

30)  50.4x94.4

Answer:
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31) Write 90000000 in standard form. 32) 48 x 1000 33) Find perimeter of
triangle
b b a=4798m,b=
9080 m
a
Answer: Answer: Answer:
34)  Anamount was decreased by 3% to 35)  Findthemodeof thefollowing set of data 36) 54 x (-26)
$267.00. Find the original amount. 32,32, 32, 32, 125, 125, 125, 125,
125, 195, 195, 82, 82, 104, 104,
104, 104
Answer: Answer: Answer:

37) 30 YUyy-12 Yy

Answer:

38) Anamount wasincreased by 4.6% to
$116.00. Find the original amount.

Answer:

39) 2107, x 285,

Answer:

40) Anamount was decreased by 1% to
$206.00. Find the original amount.

Answer:

41)  Anamount was decreased by 1% to
$206.00. Find the original amount.

Answer:

42) /

'Name the type of angle.

Answer:

43) (10x 10% / (10 x 4°6)

Answer:

44) 2178+ 22

Answer:

45) A number was shared in theratio
3:63. The smaller share was 55.
What was the larger amount?

Answer:
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46) A number was shared in theratio
96:84. The smaller share was 56.
What was the total amount shared?

Answer:

47)
Find the next three numbersin
the sequence
0112358 , ,

Answer:

48) Write 5000000000 in standard form.

Answer:

49) Solve16q2 +13q-11=0
Round your solutionsto 1 decimal

50) 3430+ 70

51)  (-1998) + 27

place.
Answer: Answer: Answer:
52) Find perimeter of 53) 54)
a p triangle
h=7788,a=9803
T ft, A B=26 A B=26

b=9981 ft,c= Find the Angle at side A. Find the Angle at side A.
9987ft

Answer: Answer: Answer:

55) A number was shared in theratio
44:100. The larger share was 25.
What was the smaller amount?

Answer:

56) A number was shared in theratio
44:100. The larger share was 25.
What was the smaller amount?

Answer:

57) (1x5h +(Bx17?

Answer:

58) 4108+ 52

Answer:

59) 5478+ (-1111)

Answer:

60) 23 44-15 9y,

Answer:
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61) Find the percentage change from 120

62) A number ischosen at random from

63) Solvellg?+16q-18=0

to 108 1to 75. Find the probability of Round your solutionsto 1 decimal
selecting number less than 17. place.
Answer: Answer: Answer:
64) Find the percentage change from 450 65) 02:02 am To 10:15 am 66) g5* g2
to 387
81
Answer: Answer: Answer:
67) 51,421, 68) Convert thefollowing mixed number || 69) 4264+ 52
81/, into an improper fraction.
Answer: Answer: Answer:

Find Volume of

71) (6 x 108) - (8 x 89)

72) 310+ 314

1
Hexagonal Pyramid 313
/34
Answer: Answer: Answer:
73)  8958.9 + 8162.6 74)  49x 1000 75) \ b
a o c

Answer:

Answer:

Measure angle boc

Answer:
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76) 17% of 111 77) Factorise? + 6q + 9 78)
‘Name the type of angle.
Answer: Answer: Answer:
79) 17415 x 387/ 80) Convert the following mixed number || 81) Find perimeter of
2619 4 into an improper fraction. b rectangle having
sidesa=4428in
a andb=1591in
Answer: Answer: Answer:
82) Convert the following fraction into a 83) Factorise d?2+8d+15 84) (-3626) - 3941
mixed number: 4/,
Answer: Answer: Answer:
85) Round 11.21053 to 4 decimal places. 86) 08:46 am To 05:09 pm 87) 08:46 am To 05:09 pm
Answer: Answer: Answer:
88) Increase 12 by l/3 89) 3286 - (-4409) 90) Solve4f2+18f-18=0
Round your solutionsto 1 decimal
place.
Answer: Answer: Answer:
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91) 4/18 X 20/16 92) Write 20 in standard form. 93) Find the mode of the following set of data:

184, 184, 184, 184, 200, 200, 200,
135, 135, 135, 135

Answer: Answer: Answer:

94) Find perimeter of 95) 97% of 420 96) (1x 77 x (8x 109)
triangles=3282m

Answer: Answer: Answer:
97) 4% 5 98) (5x10%) - (1x 3% 99) 1974- 234
f19
Answer: Answer: Answer:

100)  (-3058) + (-6782)

Answer:

Total: /100
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1) 125
8) 4082/ o
15) 44

22) 9%y

29) 35.2

36)

43) 40960000
50) 49

57) 8

64) -14%

71) 3902848
78) Straight
85) 11.2105
92) 2x 101
99) %

Copyright 2020 - Geek School Tutoring Limited

2) $238.09

9) 35598.171755989
16) 22/,

23) 10

30) 4757.76

37) 1771

44) 99

51) -74

58) 79

65) 08 Hours 13 Mins
72) 39

79) 67129 5

86) 08 Hours 23 Mins
93) 184

100) -9840

3) 1%,

10) 210/,
17)1:53
24) 167
31) 9x 107
38) $110.90
45) 1155
52) 29771t
59) 4367
66) 85

73) 171215
80) 123,

MATHS WORKSHEET

Answers:

4) 11063.8
11) $306.42
18) 17216ft
25) 519

32) 48000
39) 8373/,
46) 120

53) 154

60) 749,
67) 4%,
74) 49000
81) 12038in

87) 08 Hours 23 Mins 88) 16

94) 9846m

95) 407.4

5) 1015

12) 50

19) 178

26) 13.4

33) 22958m
40) $203.94
47) 13,21,34,
54) 154

61) -10%
68) 97/,

75) 120

82) 1%,

89) 7695

96) 6588344000

Sr: 21102020-1765

GEMERA i

6) 22391390
13) 1%/,

20) 36

27) 274

34) $258.99

41) $203.94

48) 5x 109

55) 11

62) 16/

69) 82

76) 18.87

83) (d + 3)(d +5)
90) f =0.80r-5.3
97) 28

=

11-PLUS
SATS
GCSES

A0
{'”ﬂ'—)

7) -50%

14) 52Y, 14

21) $218.25

28) 07 Hours 56 Mins
35) 125

42) Obtuse
49)q=0.50r-13

56) 11
63)q=0.70r-2.2

70) 34038.262470344
77) (a+3)(q+3)

84) -7567

91) %g

98) 499919
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